22/04/20
THM 415: Finance

Quiz 3
Note to the students:

· Calculations to reach your answers shall be thoroughly shown. Otherwise, questions will NOT be graded.

· You can use a calculator throughout the exam.
1. In 18 years, you would like to have $ 247,500 to pay for your child’s education who just was born. If you have only today $ 12,667, at what rate must it be compounded semi-annually for it to grow to the needed amount in 18 years? (1 Point)

2. Your generous grandmother offered you either to have $ 1,000 today, $ 10,000 in 12 years, or $ 25,000 in 25 years. Assuming that you can earn annually 11 % on your money, which alternative would you chose? Why? (2 Points)
3. Paul wanted to buy a home that costs $ 425,600. He took a 10-year mortgage loan with semi-annual payments at an annual rate of 4.36 %.

a) How much will Paul pay each period? (1 Point)

b) Fill in the amortization schedule. (3 Points)
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c) Suppose that exactly after 4 years, mortgage interest rates fell to 3.65%. If Paul has the chance to refinance his loan at that very interest, how much would he pay (on a semi-annual basis) for the remaining 6 years of the loan? (1 Point)

d) If such a refinance opportunity is associated with paying a prepayment penalty fee to the bank of $ 6,250, would Paul refinance his loan? Why? Why not? (2 Points)

GOOD LUCK!
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